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1.

Which of the following phenorﬁena is responsible for the production of shadow?
A - Ihterference of light

(B) Diffraction of light

(©)  Polarization of light | |
M Rectilinear propagation of hght ' .,

Epseam_cupmyer ergy Bliod 2 HnGRSHG e-pgimeaTLnG QHEGD asrrn’mﬂ?

(A) Ep&s.G odamersy

B) g dlesd allaarey

© em mearu.més&d) efenarey

D) qdf Cpir GaLmer Lgaued O&_daggd). R

According to Lux-Flood concept, a base is a/an
(A) hydroxide ion donor
(B) proton ac_ceptor.

(C) electron donor

M oxide ion donor

@éev-LiaT.. Qsmarensulien Litg. @@ STy cmrug;
(A) a)gmL_rmesmsm@ W6t euypriid

B) yCym Lreéngpid

©) erealgmen auprad]

D) smev() Sjwer cuphifl |

In which of the separétion process, no fedtxcing agent is required?
(A) Iron from haematite '
(B) Aluminium from bauxite

' M Mercury from cinnabar

(D)  Zinc from zinc blende
- Epssrapb INFAF5HEGD (y)a)g)ufﬂsu @[B&EWD sTyenf chnmu.n;n;o e aTg?

(A CanwerLySnps Boiby
B)  unseavydmHs Sgfefiub

©) AenaruafeS(mbg gngu&ih
(D) . fms QeranGLISmHE gjgg‘r_r,rr&z.b
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4, Match the following and select the ¢orrect answer :

I ‘ I1
(a) Chloroplést 1. - Dictyosomes
(b) Mitochondrion 2. - Thylakoids
(¢©0 Endoplasmic reticulum 3.  Cristae
(d) Golgi bodies ' 4, Cisternae
Ja) (b) (c) (d)

2 3 4 1
® 3 4 12
(C) 4 1 2 3
D) 4 1 3 2

ECy Gasrr@ei;ésuul_'_l_mg Qurmss sflwmer fenL_anws CsibQsm&s :
I - 1I

(a) ushisaflgd 1.  1géCGurGenbser
(b) et Cursrar _furer 2. MEWESSTIL_G
(00 aarCumierms cuane 3. @favGL |
(d) Csrod e muyser 4. SAeviGen
. (@ (b) © (d)
@A 2 3 4 1
® 3 4 1 2
© 4 1 2 3
®) 4 1 3 2

5. EMP pathway is a - process.r

(A) Photosynthesis
(B) - Photo respiration
. Respiration
(D) Transpiration i
@).erb.19. anfigsL LD eTaTLIZ Q@ Blapeur@ibd.
Q)  gafiGsisms |

B) - qeflF sauran
(C) seursd

(D) - Bymefils Gurée
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6. ® Which one of the followings is responsible for the state of fear, tension and rise in blood

pressure? .
. Adrenal gland S . (B) Pineal gland: .
(C) Parathyroid gland | (D) Thymus gland
EpsamaupmeT eTg) Lwib, aamr’rseﬂ wHOID QTES DA(PE55MS a,é,lasuu@g,g, STFERTLONS &QTGTQ?
(A) Dl flered srnd | ) . (B @aﬂm@ &0
© - urn;rrcmg,gmu@ Syl | D)) mgmdu &9
7. . Number of RBC’s in a nermal adult man per mm? of blood is .
(A) 5000 o .. (B)Y 50, 000
(©)  5,00,000 | | @50,00,000 . |
% Crréfwoner wallg @Uggg,ﬁo) R s sgIT Weed L8|_t_rr Slarefléd o drer @U‘e_sgs éksuuu@
Grmrmﬂassoa; _ .
(&) 5,000 I (B). 50,000
© 500000 D) 50,00,000 -
8. Enﬁmerate the correct sequences of stages in cancer.
1. N-stage o
2. . T-stage . | .. : ..'
3. ‘ Uncontrol and disorganised growth
4, M- stage _ '
@ L1423 . ® 4213

M3214 _ D 8,1,24

G&a)a;m, UHmCEML Qades 'LIIJAn’Q]Lb Gung p%nLGuguLB sflwnar Hlevasener mmasl_'ju@ggj&,

1. - N-Bleoew
2. _T‘rfa]emu _
8. é{urﬂgmmguw @@rﬁlasmgp Q&ed. susmr&éL :
4 Mpew
@ 1,423 B o ® 42,13
© 3,214 - D) 31,24
n - 5 | - GEOGS/17
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9.  The world first robot lawyer is ' : ’ o .

ROSS
(®) DOSS i
(C) BOSS
@) IBMAI _
o adler s Crréur auasdEt @3
(A) ROSS
(B) DOSS
(C) BOSS
(D) IBMAI -

10. Which company has been named as the official innovation partner for the ICC Champions
Trophy 20177 |

A) Reliance ®)- IBM -

(C) Google | V Intel

ICC 2017 smoiQwen Ganlienu QST SISl ETyLieLoTs Asmié) eeus@bd Flpeuand c@?
(A) MNeewenev ' B) mGew.
©) s@er - . (D) @em e

‘11, Which countr;f has opened the world deepest and longesf rail tunnel in 2016?

(A) India
(B) _ China

Switzerland
(D) England | _
2016@) . ABCL et whpd Benorer Qruie Gos uTegaw Sppgierer 510 agi?
@  @pur | | |
B) e
C) sellstompg
D) @nforbg

GEOGS/17 | | 6 0



12. ..Under the following which one is correct answer?.

13.

14,

Blue box subsidies are :

(A) | Spent in Govt. ser\.rices such as research

¥ Direct payments made to farmers

(©) | Spent for fisheries

(D)  Child Labour Act

S &semLcubmieT erg alflixJnm éﬂml_,? : _. . : "
ﬁeu.tl;' Qui_ig waafwid erenLig

Q)  @irs snins QIMUEAsERsE Qe iuHeug

B) - Gﬁlsu&rruﬂvas@é@ Gy uewrd UL Heurr Galcug
© Séin mmﬁgggé;@ G&wm Qsuicug) ‘

D) GybosAsnfere s Ln

From Sep. 2016, the new RBI Governor is
MUrjit R. Patel -

(B) Raghuram Rajan |

(C) C.Rangarajan

(D)  Y.V.Reddy

Qsti_ibuir 2016 apsd, Aeies auiifulir LB seuiart - e,

(A eigds et ulCe

B) pEym r;rfgéﬂ
© C. TRIGETTER6HN

®  YV.Gny

The Headquarters of “APEC” is the headquarters of Asia-Pacific Economic. Co-opération is

- (A) Abudhabi ° ‘ Mingaporé
© Geneva . D) Paris
“APEC” -én goveenowsid 2pflu-ufiGs Qumgsergmy aa«_a_@,rpaﬂat SO iotisid
@) ousma T ® emeogh
(© ogeflar O urfé
(A 'GEOGS/7
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15. Which one of the folldwing state doesn’t share the drainage of the Mahanadhi? .
@) Chhitt}gafh/
(B) - Jaharkhand

(C) Maharastra '
- 4/ Bihar | ‘ f

@eupgier waprpHuller fllener ukiflrg wrlew erg?

(A) esleedvsi | |

B) gisean(

©  wammayg T

D) Sarr

B ’
. 16. Four Planets of the inner circle is N

(A) Jupiter, Saturn, Uranus and Mars

mvlercury, Venus, Earth and Mars

(C) Mercury, Vénus, Saturn and Mars

(D) Mercury, Venus, Earth and Jupiter .
o.dr oul L Bgidrar préing, Cameraat

(A) | eSwmpen, safl, W Greney whHmd Q&G'LI‘QJITU.J
®) . ugen. Qaural, Lol > Qeeiiumi

(C) ysen, Qauerafl, safl LHMD Gacuamis’

(D) ugen, Qeugrefl, Yol WHYIL efwmper

GEOGS/17 | - 8



17.

-18.

(a)
(b)

©

(d)

@A)

B) 2

(©)

o

Match tl;le following : |

List 1
Green revolution

White revolution

Yellow revolution

Pink revolution

R W N

QUTEHES!S :

(@)
, (b)
(c)

CY

ey
®)
©

®)

uligwe I
u&emD Y&
Geuammenio L&

LDEHEET L&

@orgsflautiy uyé) |

@ B ©

1
2
1
1

O

W N = W

S W N - W

N

@

List IT
Crops
Poultry
Fruits

‘ Dairy forming

wiguwe IT
Geuermeir LUdIf&eT
(Sa;rr@ euemliy

sl &eT

: uImed LekTenaRTs GFmled

[CRE N

The title ‘Indian Napoleon’ is given to

(A) Asoka the Great

(B) Alkbar the Great
m Samudra Gupta

(D) . Chandra Gupta Il

A)  war HCersT.

B) wasTEUT

©) eswpsdrEust

(D) @yawLmb sHETGUIST

EbHu ApLIGuTeSlwer eremp LILL LD @G‘U@éi@ Gésn@ésasﬁul'_@wmg,;, i
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19. The First Burmese war came to an end by the Treaty of
| (A) Treaty of Paris

(B) © Treaty of Surat\
. ©) _> Treaty of Salbai
w Treaty of Yéndaboo

wsorag uidul Guri @bs e L enigsmauler CUTE WPy &I&E UBSH.
A) urflev 2 L erig sans

(B) @rjg g_l;ebrulq,&més

©) #nd)mu 2t S &S

(D) wrenLmy e el ses

20. Sambalpur was inade a i)art of the British Empire th.rougﬁ

(A) Subsidiary Alliance
(B) Treaty of Sambalpur

M Doctrine of Lapse
(D)  Victory in War -
Fudgt Ggar apabd gmdCaouL Gulméieiﬂ »9@ SIBISONS DAHILIS)
A)  goeriuaLFHCLD

(B) sbudyi e Ly sas
(©) a@asrréluﬁlsﬂé; Qarerens

(D) Gunflé Quibp Qeudhid

21.  The National School of Drama was setup in
(4 1956 . . o mgss |

© 1961 (D) 1962
sl igw Gaélud uereft Bmeulin. L @@
(A 1956 | B) 1959

©€) 1961 (D) 1962

GEOGS/17 10
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22.. Which one of the following Political Parties was hot a member of Janata Party in 19777
- (A) . ~Indian_Nationél Congress (Organization) '
(®) BharathiyaLokDal
(C)  Socialist Party
M Kisan Mazdoor Praja Party
SeTaIHaITAIDDIET 6THS 2T &4, 1977-1b e ® gangm &8 sl Lawfl 2 pndlengrs Qaoame?
@) @pdu GCaélw srmfyey (ﬁognu@m’n) '
B) U_FT!I;]U,I Coors; gor
(C_).  Ganeadls &8
D) Slevmen ;n-e;fugnﬁ xﬂn;rgfra;u.‘.é]

23. - Which of the following state is having one seat in both Lok Sabha and Rajya Sabha‘7
(A) Puducherry | R (B) National Capital of Delhi
Tripura SR ‘ (D) Meghalaya

Spapueaasaid ¢bs mnﬁlmw grrgu_l gL LDHYILD Goords &urreﬁ];p@ @ a@uuﬁ]esrrr ugeﬁ\

Ga;rrcm@erreﬁg? ‘
A) ygEGenl , . | ) (B)‘ @Qi_cved)
Aflggr (D) Guareowr

24. Who signed a treaty of ‘eternal friendship’ with the Amirs in 1809?

M Lord Minto

(B)  William Bentinck
(C) Lord Mayo
(D) Lord Hastings
1809-1b @t cgnﬁrras@t_m Hevawner Gsmpaio eran @uumggmg, Gmm@asrrcml_mrr wi?
(A) uSleGL_rr Gy
(B) efNeedluid Guamrqlmés
©) Gwéu.urr’ Siry |
()  Gapevaricd G

o - 1 - - GEOGS/17
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25. - The Dhar Commission was appomted to examine the formatmn of linguistic states by @
(A) . The Governor General of India
{ The President of Constituent Assembly
v(‘C‘) The President of India
(D) The Prime Minister of India

are dvmflaurl wrfloisd 2 maurssgms iley QalusHETE ST QLMERTWID
 DiDWEEILILL G, |

A @ﬁﬁu‘s@ﬁmﬁr-@gafus&) :

B) srdueamwo Hiremmwu saLien ga)a)ajfr‘
() @pdu EuLrEs so@alt

D) @pHuGgo wph

26.  Where was the first India—Asian Business Summit held in Octdber '2002? P
(A)  Phrom Penh - (B) Bali . - .
(© Laos - @ Wew Delhi |
aascl_rrurr 2002 -1b Qbswr@ QBD @‘r_r)@lurr :g,é]u.lrrm UTSHZE a_&é\ orBTH gssmLGug)gp @L,u) gi?
(A) ~Gunremnd ..Quan B) umal :

,(C)’ onGeure , . D) yg Sl

.27.  The verdict of the supreme court on S.R. Bommai Vs Union of India is ‘mainly related to the

usage of

(A)  Article 350 J\ Article 356

©). Articlé 360 ' - (D) Article 370 .
eTaiv. yit. Qumbenio AT QBHL SiE mggaséla) o &8 (5@ marmgﬁm &y, é&fwiors Gerteumd ahs

aﬁwu.gl_m Q,srrL_rrqa)Lu.@? .

@) 5350 - B) 5356

© 95360 _ D) off 370

GEOGS/17 o | 12 | n



28 .Whmh policy envisages rapid mdnstnahzatmn with- modernization for attammg' rapid -
economic growth of GDP? ' oo ' : o
M\Tew Economic Policy . . - -
(B) = New Industrial Policy | R
(©) New Agriculture Policy

(D) Foreign Policy ,
aq;ﬂpaﬁm Aamfléwuwinrged epetd Gwrrg,g, Csflw 2 Huss, @p@u_: Qurr@a‘rrrgm;ru) sumlr&éﬂu_lml._u.:

aifl cuens Q&g G]a;rrcncme; -
| A ysdu Qummermgmy Gkasrfehsms o
B) - ydu @g,@ﬁ; Qandrans

©  ydu Gaverraimenios Qaretans

D)  uwé priGé Qadrens,

29. The.vleve_l of malnutrition in all éxpenciiture groups was higher in the
(A) Hills areas
(B) Rural areas

(C):. Semi — urban areas

Ml Urban areas
aisbéugg,j GémaﬂmhﬁrﬂaﬁlmrﬂL@m oa1l L 5558) GOOUNH SiHsapdrer LGS
A) ana)é}rrg) uGSlser h |
(B)  &Agmoliyw u@ﬁm
©  pavses Pl LgBadr

D) pertu@Saer

30.  “A plan of Economic development” was popularly known as

(A) Natlonal plan S , | (B) People’s plan
% Bombay plan- ' (D) Gandhian plan ’
“Glurr@mrrg,rrg wpeaCappsHnster b S’ aarg) CTEUGUN SHEMPESILILL F)?
@) Cshwdiip o ®)  wésefien HiLi |
© @oumigiies D) - smpHuddn S id
S Rt . GEOGSN7
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. 31. The Two Nation ’fheory was proposed in which session of the Muslim Leagtie
@A) Calcutta  (B)_Delhi
(C) Meerut K ‘ Lahore
paveSd 654 s Aullen aThg sal L SHH B (85# Cam_un® gpear@umBuiiu’ L gi?
A) sosssT B) yo '
© Bl _ | D) eorsT B

'32. Who formed the servants of Indian society?
(A) Ram Mohan Roy
(B) o Vinoba Bhave
‘ Gopala Krishna Gokhale
(D). Vivekananda .
@p@m uesflwrert a;@sg’smg Fou@gHueu wni?
(A)  ymb Cumsse gmi
®  AGamur LGa
(C) Gamure Amegear CaraGao
D) ACausranpsi

33. Who was instrumental in bringing the Extremists and the moderates together at Lucknow?

(A) Lala Lajapathi Rai

wamie Besant

(C) Gopala Krishna Gokhale

®) Aurobindo Ghosh |

&Ganmefic, Lﬁgmnﬁa@m, Beflgaundsenib @uudoanmny SMTeToNs @)mbseui wimi?
(A)r' QIO Q)‘&I_IQUWU.'J - | '

®) o Quesn

(©) - Garure Ameyer CaraGe

D)  oedps Caras

‘GEOGS/17 | 14 | | o



i. 34.,. Whaf is the volume of a cone having a base of radius 1(; em andﬁ height 2>1‘cm? '
200 cm?® ' “
B) 3000 cm?
(©) 5600cm®
(D) 6600 cm? |
@ sabidlen Sily poid 10 @auS whmid 2 winb 21 Qas erafled sbiG6r sen Slerey

i

(A 2200 GsiS’
(B) 3000 Qs
(€ 5600 Qais’

D) 6600 Qs

35.  The value of (6+6+6+6)+6

is equal to
4+4+4+4+4 15 equat to
4 7
: - B —_
g\ ® g
12
© - ®»
6 )
(6+6+6+6)+ 6_6_.6”0@[._”_l
4+4+4+4#4
4 7
A —_ B =
ST ® 7
w12
o M 1
. B
36. If ‘L’ denotes ‘+’ ; ‘M’ denotes ‘', ‘N’ denotes ‘%’ and ‘P’ denote 7/ then.

14N10L42P2M8=2 .
m153 ‘ ' B). ‘2;16
© 248 | ! () 251
‘L eremmmev *+, ‘M’ erempméd ‘—, ‘N’ erevrmmed X’ wpmw P’ Gre'mfrsb T erafieo
14N10L42P2M8=7" R .
(A 153 __ (B) 216
© 28 D) 251
0 | | B 2 '~ GEOGSN7
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37.  The value of 25-5[2+3{2-2(5-3) +5} -10]+4 is o ®
| (B) 24.25

4 L
w23.75 . D) 30

25-5[2+3{2-2(5-3) +5} ~10] +4 -ar iy

A 4 - . g ‘ (B) 24.25
(C) 23.75 : (D) 30
:38. IfE:_E:£ then the value of atbte is
: 4 7 ¢

B
Rlm 4-

©) % | S o
%=%=$qdﬂ@a+b+ i |

A) 2  | : . B % |
© 2 . ®

39.  If6 men or 8 women can reap a field in 86 days, how long will 14 men and 10 women take to
reap it? - ' ' :
(A)  20days
(B) 15days

m24 days

(D) 26 days
86 pm"_saflé g auLme 6 JeTseT Bidwg 8 QueTsdrT él@]GLI@L Qauifenmenit. 14 2peRTa6T LOHHILD
10 Quasraer Bieueuama JmeuamL CFlw TS5 BTG G0
(A) 20 priser |
“(B) 15 pfrﬁ.&;@h
C) 24pmiser
D) 26 priser

GEOGSN7 o 16 - | T3



40.. Ina college ‘the ratio of the number of boys to girls is 8 : 5. If there are 160 gn'ls the total
- number of students in the college is

(A 100 . . (B 250

(©) 260 d\ue ‘ ,
@@ Saognfluller e, Queraeficn Gfﬂés}g;l.o 8 : 5. Quawrsgenr 160 erafiev sogmiluiad lemrrgg,b
LOTERTeUFSET eramentlaama - '

(A) 100 - - (B) 250

(© 260 (D) 416

41. A 120 m long rope is cut into 3 equal parts then the length of each part is

Mzmm | . (® 30m

© 50m - D) 25m .
120 m ﬁerrq,oerrsrr Y] asuﬂ;prrmgg Qe &1 gm@mmm Qa.n_l_uu@eﬁg)gj @eu@curr@ g,]amq,at
Berqpid | |
@A) 40m . | (B) 30m

© 50m ©®) 25m

42. Miséing term in the series :

XYZ, ABC, UVW, DEF, RST, GHI, |
&) UVW . ®) JKL

‘o | (D) NOP
| NHULL. eTpdens searBidly. : -
'XYZ, ABC, UVW, DEF, RST, GHI,
@)  UVW | - ®) JKL
© OPQ | | (D) NOP

: }
'43.  The sum of three consecutlve number is 87. The greatest among the three numbers is

o\ 30 . B) 20

© 10 | D) 50
<D55658 apem aramsefiar s (HAsmms 87 arefle sicuGeuansaiern B QUL erair org?
@) 30 | B) 20 |
© 10 ' (D) 50 | |
o . 17 ., | . GEOGS/17
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44.  If the length of the diagonal of a square is 20 cm, then its perimeter must be

@A) 10WZem | | B) 40cm
f 4042 cm | R (D) 200cm
g sgirEHen apeaeliL famb 20 cm erefléd wrfﬁé‘m sppeTey

(A)  10V2 @8 | (B) 40 Q.8

(C)  40V2 Gs.8 . (D) 200Qs.5

45. A man took a loan from a bank at the rate of 12% p.a. simple interest. After 3 years he had
' to pay Rs. 5,400 interest only for the period. The principal amount borrowed by hlm was"

N Rs. 15000
(B) Rs. 10,000
(©  Rs. 25000
(D) Rs.50,000
@i gm aubduldnbg e GHUGH LS ngmsmu_l 2eHEE 12% §aﬂa.|uq. ei55He sLmE

, Quodlpri. epem YarHadT SPFH el ey wLBD . 5,400 aperm a;mr@a;@a;@ Qsss
Geuair(Bid eTafléd Sieui sLams AUy AFTens

@A) . 15,000
®) . 10,000
©) . 25,000
(@O . 50,000

46.  The simple interest on Rs. 10 for 4 months at the rate of 3 paise per rupee per month is-

(&) Rs.2.10
®B) Rs. 0.80
w Rs. 1.20
() Rs.150
. 106@ BrenG WISHISERES WIS MHLUMLIGE 3 enuaT safleul iy aSguutq. §aﬂa.u_tq.u.|rrarg
A . 2.10
- B) . 0.80
© 120
O @ 150
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47. g World Wlld Life Week is observed dunng
| (A) First week of September

(B) Last week of September

First week of October

(D) Last week of Oétober

2 & euarelleni@ eumid QarerrLm _Liuheug

(A) QelLbdur Wwsed NP

(B)  QelLibuit s & eumyd

©) @sCGunuir upge ey

D) =sGLrul sanL8 eumybd

' 48.  The headquarter of flood forecasting organisation in Indiais located at

(A) Hyderabad - ’ (B) Delhi

(C) Poona . w Patna

@pHuneier Qeuerer pemambladiiiLy Q&u_lu_p.o ;ﬁlgma@ﬁm seaewuiL b Diewbgerer G
A) mmgunun@ o ® QLa)aSl '
© yGar | (D umem

49.  The Wild Life Protection Act of India was introducgd in the &ear of

@) 1962 1972
(Cy 1982 . . . (D) 1992
@ ﬁ,(@u.hreﬁ]o’.) euan o Wi urgIsTOLEF SLLD APPSLUESSILLL H&TH
@) 1962 | (B) 1972 |
© 1982 | (D) 1992

50. In which of the followmg natural hazards, m1t1gat1on and rehabﬂ.ﬂ:atmn is difficult?

(A} Cyclone - : (B) Landslide
.ofi Tsunami | (D) Flood
ﬂa‘rm@m Qupens CuilLisafle @er g,avﬂg,g)a) LOMHOILD LEGTT@tq.GUJ!D[DLO weneusaiie) sigemoreng
org1?
(A)  @preue , B) Haossfley
© semd (D) Qeucrenid
n | o | v - GEOGSN7
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' 51.  National Physical Laboratory (NPL) is situated at
(A) Chennai '

B) .Calcutta

(C) Mumbai

. @f' Delhi |
| CesHw QupIuwidd %U&uﬁéﬂ Sl 1D JieLoBgeTeaT @'L_Li').
&) Qsdrenen |
B) Qarosgsm
© gbeu
D) Qraa

52.  What is the element X in the nuclear reaction?

. MN+fHeo>X+'P . o
) "‘J N - e 70
© YF - . @ ®Ne
' é@é&@ cllenarnuich gafloip X uméf?
;4N'+;He-—+)-(+iP
@ N B B ®) 50

© JF @) 1oNe

53. 1 horse power =

(A) 646 W . B) 684.“‘/

w 746 W | ' D) 846 W

. 9@ Gfler fpar= ‘. | |
@) 66am 3 | (B) 684 e
(C) 746 eum _ . : (i)) 846 eum’_

A
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54.

55.

Cheilosis is a deficiency disease due to lack of

(A) Vitamin Bs»

"(B) Vitamin B,

(C) Vitamin Bs

M Vitamin B2

LDDTEGDWTD EGameda :sr@jtb Grmi ghuHems).

(&) e ifdr Bs
B) Al blen By
(C) el LB Be

D) eifer Be

Polymerising methyl acrylate in presence of polychlorostyrene yields

(A) Chelate polymers

M Graft polymer

© Coordination polymers

(D) = Branched polymers

@CamGyrevent_far oLy paafoauldn- Qusdd sl Ceirgg UDUIGUITESED QS!@GM;@ :

2 Lu@ggib Curg fenLLiug
) @

(A)  GanpéE Loy

B oL ueus.

©) 'aewémm UeoLitg

D)  deveryi usouui. | .

21 o ~ GEOGSn7
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56.  Match the following

(a)
- (b)
©
(d)

)

o

©
1)

-2

Vitamins
Vitamin-C
Vitamin-D
Vitamin-B1 -
Vitamin-A

(a) (b) (©
2

b e

1
4
1 -3
3

Qurmsgs

(a)
(b)
©
(d)

@)
®)

©).

®)

57.  Which one is a correct pair?

GV
®)

(D)  Periyar Sanctuary
@aupdled erg sflwren Gy ?
A)  Areu@fiwe yrist
(B) esmQul 2 ulflwe yhiasr
(C) prarigOamsnsit FTERTTEOWLD | '
D) Quilwaf syemrreowd

eu_L8langer
aeul_Lfler-C
aaeul_t_Lflew-D
aeul_L0e-B1

aneul Ldem-A

W W b
QN'HCO

Gir National Park

Corbett National Park
w Nagarjunasagar Sanctuary

GEOGS/17

S N S

@

— s W A

oo

@

[ N T A

Deficiency diseases
Beri-beri

Scurvy
Night blindness

Rickets ‘

LHOTEG®D (}g,rr&asdr
QuA-QuA '
evaredl

Braus 560 -

A& _6v

—  Uttar Pradesh
- Madhya Pradesh
-~ Andhra Pradesh
—  Karnataka

- 2§85 9rGgew
- wiHu ACssbd
- apfHrGyCssd

- . &OBIL&T

22



58.

59.

60.

Robert W. Taylor, the renowed computer pioneer passed away recently. He hailed from
which country?

(A)  France

(B) Japan

(©  Australia - .
M United States of America

sbusH@ R audvgent grur. W. Quiliei arhg prienc. smibseufi?
@) Gyréred |

®B) - QUL

C) wdHGradlwm

D) p&dw a@mrﬂe’é&%lgbn@&;ﬁ

-

Which country introduced biometric visas to Indians from 2015 onwards?

(A) Russia : (B) USA

(C) 'Englan'd . 3 'WFranc‘:e

2015 appe» LGWNQWLMS efarelienen @HHWTEEDES Gugpr.r;j@;b BT® eTg?

(A) geiq,w& | o B) @{Qwrﬂis&n .
- (C) | @rdleorng D) .LSIIIIT@TQ'U

Name the Indian sports person who won the gold’ medal ‘in high j Jump m the R1o Para
Olymplcs 2016.

(A) Varun Singh Bhati

(B) P.V.Sindhu

Mhangavelu Mariyappan _
(D) Chandra Sekar . ’ - .

2016 AGwm umym @AUDB9E Gurn_tq,u_‘ﬂa) o wiih STRTHSOD Sk ugsésasm Gugpm Qpdw eleverwm B
&Syt Quiwir 5OS.

(A eumert Sk g

- (B) Q6. fpg

©) shsCag wrflwiuer
D  enHrCeai ' ' o

23 ' _ GEOGS/T7
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61.

62.

Consider the following statemeni;s :

(a) . Telangana is the 29tk Indian étate . : . o
(b) It was bifurcated from Karnataka and Hyderabad is the jolint capital for 10 years
(c) K. Chandrasekhar Rao is the first Chief Minister of Telangana

Choose the correct answer from the options given below :

(A) (a), ®) and (c) are true
(B) (a) and (b) only true

Ma) and (c) only true , .

(D) (b) and (c¢) only true
S\psaamL cunsAinismen Seuafldsey :
(a) Qg@)réus;namr @(r_'r;ﬁu.meﬁls&r 296ug,1 LB @D

(b) GCzgmsrernr, siBT_& mnﬁmgﬁcﬂ@p@ ONpss. @ser soopsmd 10 Q{,@T@&;@&;@
| PADBTUNS GO .

(c) G abHrCaysi Ty @s6 ApSD, (pFDEUT e

&Gy an@ésasuul;(a&mmgj)@aﬂ@;bgj Elﬂu_m;'m eAenLemin Gésfrm CEwweyd.
(A)  (a), (b) pmd (c) &M

B) (@) wpmd (b) v G &f

© (2) wppid (©) LG e

@) () wppd (c) LG &

Who is the present CEO of Microsoft Corporation? -

"(A) Bill Gates

(B) Steve Ballmer
%Satya Narayana Nedella ‘ .
(D)  Sundar Pichai o .
@waGrremuL sriuGrayaier sHCUTMSL SmaeLd QEwId BIQIEURT WTT?
4) Y Calav

B) avtedy UrGLT

(O ssw prymueT GpLeor

D) spsTbFms

GEOGS/7 - | o4 | o o



63.

64.

65.

Who hecame the united nation’s youngest - ever messenger of peace?

MMalala Yousafzai

® Midori

(C)) Haya Bint Al Husein

(D) Chalize Theron

®&8 pr(psefler a@m{é)ésaﬁrrsm gngr’ras.aﬂd) LélassqLB @mmwmr’r wmir?
(-A)' LOTEOITET g&ntﬁi@brrub

B HCLnf

© apwr Qe oié QO

(D) sradlev Qzyen

In the solar system which planet is called as “The Morning Star”?

M Venus ‘ (B) Uranus
(C) Neptune - (D) Mars -
Gfw GOLUSSH® “elily. Aaudrafl” aTar SiEmPsELILRD Caner arg;?
A)  eSenav B) wCranci

© Gplgueér | D) Gseseum

The total area of great plains of India is about
(A)  6,74,000 km?
@ 7,74,000 km?
(©) 874,000 km?
(D) 6,64,000 km?
@;’r)‘e_ﬂu.lmﬁdsf Quilw swQeuafufer Aurgs urliuere

~(A)  6,74,000 sgiy £1.15-
- (B) 17,74,000 sgiy .15

(C)  8,74,000 eziy .45

D)  6,64,000 sgiy &.5

25
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66.  Match the following :

(a)
(b)
(©)
@

A
B)
©

ListT

State

Gujarat

Uttar Pradesh’

Assam

Karnataka

(a)

1

LAY

Qurmsgs 7: _

(@)
(®)
(©
(d

@
®)
©

(D)

(b)

2

w

uliguwed

wrilew

GRITS

(c)

2 487 GyGsi>

DIFVEVTLD

STBTL_&T

(a)

1

L~ S

GEOGS/17

OF

2

©

D W

3
4
1
2

no

Lo

(d

List II |

'National Park / Sanctuary
- Bandipur

Manas

Corbe'tt

Gir

U wed I1

- Gasflw yhisr [ sgemreowb

uBSOILT
LDTEBIITGR

srr@ul

. &

(d

N W e

26



67.

68.

69.

0.

How the Mihi'ster of Military affairs was called during the time of Délhi Sultanate?

Diwan ~1 — Ariz
(B) Diwan —~1I-Insha
(C) Diwan -1 —Rasalat
(D) Diwan~1-Qaza

- Quved) a;eugrraﬂu_mm i 8 sresdHd rremieu Lopgllﬂ GTaJaJrrgj amgmsuu;um?

(A @eurran o8- &nﬂm
(B) Heuren — g~ @eragm
(C) Peumen— g — reneL

D) qurr@r - - m@gn

Krishna Deva Raya‘ belonged to : , .
(A) Saluva dynasty (B) Aravidu dynasty

(C) Sangama dynasty , Ml‘uluva dynasty
Hpegenr GHeuqmuit _ — qubsFmS STiHHOT. _
A)  smEBa abaD B Q'ia!DGﬁl@' QUDFLD
(©). &srsD DD - : . (D) sl@peu eubsd

Who was the Fifth Guru of the Sikhs?

MGuru Arjun Dev . ~ (B) GuruAmar Das
(© GuruRamDas . ©) Guru Har Govind
&sfwisafien ghareug & '

A)  ©® sgrar Ggeu ' B) &m amr’rgm’o

©) &% TSI N D). & abiCaneihs

Who built the famous Kallashnath temple-at Kanchi?

MRajasunha . o (B). Mahendraverman I-
(C) - Narasimhaverman I : (D) Aparajita
a1 2 atam LSPAUDD MesRTEBISIT Carulene &L ig el wTT? .
(A) qrr& fﬂl}l)LDG.UT . v .l (B) | @g;eurub wCahreuioe
(C) sonbd prébweutoer | (D)‘ SUrTlSHetn

27
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71.  Which of the following are the i:neans of Judicial Control over Administration?

1. Rule of Law

2 Suits against Government
3. Injunction

4 | udicial Review

(A) 2and4 OA 3 and 4

) 1,2and4 ) 1,2,3and4

Speumueuarcupmier erg Bireunagen LS§IT6DT ﬁﬁggmgp sU_RUum g6 eleTssd D@D ?

L. &1L _ghlen 1 4

2. 2FTRISSHDEG dyre usED

3. S JEETY 2y, enemnT

4. fBHuyemymley

@A) 2 oppos @B 2 3uwpmo 4
© 1 2uwpmb4 | ®) 1,2 3u0ppod

72.  Which one of the following is not a recommendation of Union Constitution Committee
regarding Second Chamber at the Center?

(A) The two chambers should be named as Council of States and House of Pedple
MThe Council of States should be formed through direct elections

(C) The Councﬂ of States would not be liable to dissolution, one third of its members
retiring every two years

(D) For the lower house ten members to be nominated by President in consultation with
Universities and Scientific bodies B

Geneumauataupmer aps e, wWHHL GraT_maug e QFTLiLTE, e gwﬁtue\)mmuq
Bgefler Lflpgmy Qomae?
A)  Qra( wausEBD wiHlekise Sienal LOH DD WESET Sieeusramy GuwRL il CauaT@ibd -
B) brfwisd sima Goy G-gr'rg)d)‘seh aneul;b 2 (HeurSSLILIL Gma’m@fﬁ
(O wrrﬁwrmserr DAL FDVESILL am_.rrg eperrled @@ LII'EJ@ &QJL.IIE]GUTH'&GIT geubeum(m @qew@
<24, 615 63T Q,onq.aﬂgum Guiey Qup Geuair(HLb .
D) Sypmasg usy eglulaisme Ggwrs ganéosur’r UDEMSPSEISET WHMD Plefucd

sieoliiysafen gCorsmarsmer Aupm Hluibléss G
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' 73.  The Panchayat Raj is included in the
,_ (A) Union List '
@ State List

' (©) Concurrent List

(D) Residuary List

LIEhEmMISS T Gsfrésé&ut‘.@eirm L g 6
@ wpfuuique |
(B)“ wrdle |_1|'_u.}u_|sb

(C) , @@;ﬁlmm L.lL'_lq.u.la) |

D)  @srulque

74.  Which one of the following is not a Women Empowerment Programme?

(A) - Priyadarshini ‘  (B) Swader
(C) . Ujjawala - g ‘ MCarihgs
Lﬂdrm@msﬁmpgehGluaibwci'ré{éla;rruuu(ggg@l_éh AgrLiyeL g Side? o .+
@)  Ofusiofedl ) ®) wGeusi
©) egamer (D) sy

L

75.. G.T. Nanavathj Commission was established by the Government‘. of India ih éOOO to

investigate '

(A Th(_a' coptroVersy surrounding the reported death of Subash Chandra Bose in 1945
(B)  Godhra Massacre 2002 - ‘ | » -
(C)  Babri Majid-Ram Janmabhoomi Dispute 1092 |

&\ Anti-Sikh Riots in 1984
@S SiysTed 2000-6\3@ <a® .. prammeud %mmu.u.‘oé;g’;u@éguuf_t_g.
(A)  1945-6 ulwnangns SHESUILILL &LUTES.5HS g("éurreio LOFERTSENS D4
(B) 2002-b el Gsngﬁn Q@Glesrrmeumu.i %urru |

() 1992-i SLeT([H FITLD @ggeimogl.& - urufl LGS ‘LS}II#&GU}@TGG)UJ S ITw
o) 1984-[0 @[ FSSWTEEEsHES Gl'é]lj'ﬂ'@f QUENT (e DN ca;br,rrru;l

n | | - 20 ' GEOGSN7T
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76.  Who is the Chairperson of the Rajya Sabha? S
| (A) President
(B)  Prime Minister
M Vi;:e-Pres_ident
(D) Deputy Prime Minister ,»
grigw sepLllen senaeuTs BmUiveur wimi?
@ gennHLs
C® Grpouwpf
' C) euvu-gamdud

D) gewen Grsw wEHM -

77.  In India the annual Budget is presented in the parliament by whom

-

" (A) President -
(];) Prime Minister
m Finance Minister
(D) | Lok Sabha Speaker
@pHureiler gyam@p eupey Aewey S idlsms pngn@mmg)gﬁd; u.:m;r@ urflésluR&ng?
| Ay eywurs oo |
® g0
© PP swssi

(D) Cors sum eiisat

GEOGS/17 | 30



79.

80.

. . .
. . . -

78.

Who formulated the people’s plan?

-(A)  Jawaharlal Nehru , ' | B) Sriman‘Narayah
(©) MK. Gandhi |  GIMN. Roy

wéser S pHemar 2 pairsduait wri? |

@ geusiane Go - B Bodr prymuen
© b Cs. smpd - (D) emb.erer. pmi2

“FIPB” refers to‘ '

(A)  Foreign Investment Paper Board - '

(B) Foreign Investment Plastic Board
w Forelgn Investment Promotion Board

. (D) Foreign Investment Pnntmg and Promotlon Board

“FIPB” erérug)
@A)  spluasd G erdg éumﬂu.nb
®)  epHu ss® Gemmevigé mmuﬁb_
© <pfu s @ S19e0mss eurflwid
D) élﬁ)ﬁm (go.,ssﬁl.'_@ 2188 wHPID S TADEH aunflu

Per capita Income means

(A) National Income X Populationi

(B) - National Income — Populaliion
m National Income + Population

D) Natlonal Income + Population

SO QUHEUTL GTELIZ)

A) Bl eumeumi X in&seT Ggrens

_ (B)- BT euBeUTL ~ L&&ET Ggrrsms_ ‘ - -

(C©) Bl eumeumi + wesaT QFTes

D) i@ eumeumi + e Qgnens

31
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81. When did General O Dyer was.murderedbbjr Udham Singh?

(A) January 3, 1939 - (B) April 20, 1941
G March 13, 1940 (D) June 12, 1942
Qgganyed ‘g’ LT GreLeuir 2.8 Auandd QameeruL gl ﬂﬂ@ﬁn@g?
.(A) ganeufl 3, 1939 A - (B) guge 20, 1941
(C) - writg 13, 1940 ' (D) 59 12,1942

82. Who said, “Give me blood an’d-I would give you free.dom‘”?
(A) Mahatma Gandhi
(B) Jawaharlal Nehru.
© ’ Balagangadar Tilak
‘Subhash Chandra Bose- | . .
‘Qusssmg FN(HEISET Hre 2.@25@&;@ s5HETEMS g@@meﬁ’ e Saflueurt wWri?
A)  wstsT STHH |
B g@&;ﬁmrrd) Com
(©C) une swsTgT @cpei;'

D)  aLnes spS7 Gurad

83. Which year the justice party was formed? . ' '
' | M 1916

(A 1917
(©) 1919 | . D) 1920
s 58 g @B eussIULLE? |
QA 1917 ' ®) 1916
(C) 1919 . (D) 1920

84. Who wrote the book the ‘Glimpses of world History’? )
(A) Sarojini Naidu (B) Mahatma Gandhi

(C)  Subhash Chandra Bose Mlawahéﬂal Nehru
‘e & ey Limfaas’ e Ussssms apdluesi wmi? e
A) sCrraf pry® » ' . (B)  wsrswn sTH

©) surdy spdly Gumen - D) geusiterd Crm

GEOGS/17 _’ B o .



85.

86.

87.

The average of all the number between 6 and 34 which are divisible by 5
@A) 30 | o

€ 25

(D) 40 |

6 @g-,d) 34 cuenyy 2_aTem 5-2p6 UGLHID DimansFl eTarraeatien gymel
). 30 ' | | |

® 20 -

© 2 "

-(D) 40

A man walked 30 metres towards south, took a ieft tufn and walked 50 metres, again he
took a left turn and walked 30 metres. How far he is from the starting point?

(A) 80 metres
(B) 100 metres
€ 130 I\nétres

M 50 metres

- em walga AsHGL LESDLIE 30 Bl BLbs e @L g USED 'éj@mt_‘ﬂ 50 B BLBS e

BRTHD QL gl LEsD Q@wlﬁl 30 ULt pL5g 2-emamman arafley Diauen c%mmﬂg,g @L.g,go) @@pg

GTGUEUETEY LD ;r;LpgjaTGﬁrrm?
(A 808 i

®) 100 Seii

© 130 8ot

(D) 50B

"The average of seven consecutive numbers is 20. The largest of this number
@A) 15 | - ® 19

. &\ 23 - D) 39
SH5505S TP Grma;aﬂca sqnafl 20 Graﬂev &m@mm&aﬂm s Quflus eremr erg?
@) 15 S @) 19
©. 23 B ) 39

33 o GEOGS/17
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88. .. Ifx:y=2:1then (x? —yz):(x2+&2)is

@A 2:4 . . ® 2:3

© 1:3 '. - «3:5

x:y=2:1caaflé (x2 —yz):(x2 +y2)—-sinm§]|_'u_| _

@ 2:4 - ® 2:3 -
© 1:3° | - (D) 3:5 |

89." 3.5 can be expressed in terms of pefcentage is

(A)  100%
f 350%
- (©)  35%
D) 3.5%
3.5-g sgalflgs e g Lineniwler ellaufggned
Q)  100% B
B)  350%
© 35%
D) 3.5%

90.  The ratio of three numbers is 3 : 4 : 7 and their product is 18144. The numbers are

(A 17,16,13 |

P\ 18 24, 42

(© 12,1819 .

®) 11,13,16 | | _ |
apeng cTamsatien eﬁlﬁgm‘@pmp(}‘?m 3:4 1 7 Gm@].ﬁ.b jeuhiten GU@&SQU@@T 18144 aaflé
Sicueuerraer .
(A) 716,13
B) 18,24,42
© 12,1819
D) 11,1316
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91.

92.

93,

~ Find the wrong number in the series :

1,3, 10, 21, 64, 129, 356, 777 |

@ 1 L ® a1
© 6 - e
Qemaumd Gg,rruﬂsb'g)su DTG GTERTEHERT Gsirey Qewrs :

1,3, 10, 21, 64, 129, 356, 777

@ 10 o | ®B) 21

© 64 . - (D) 356

‘The area of a r1ght angled tr1angle is 40 tlmes its base then its helght is

af\socm | - ' (B), 40cm

- (C) 70cm : D) 90 cm
TY0) QeriiGaner sts(%&rrsmgﬁm u:;ruuerrsq DIGeH aqu,.uua;& ereneu e 40 Lol_rm@ Graﬂa) DG
2wy
@ 80Ges C®) 40 Qe
© 70@s8 - - (D) 90Qss

The deference between the length and breadth of a rectangle is 23m If its penmeter is
206 m then its area is '

@A) 1795 m?
&7\ 2520 m?

(C) 2240 m?

@ 3250m?

TG Qmsusgﬂar 5m§£m@m aqasa)gﬁg@m 2 arem Gmgurr@ 23 8. ag@mi.,u.l shperey 206 LB
ernfiéd ae@mmsgﬁm ugly

(A) 17958
(B) 2520558
C) 224088
) 3250848

35 ' GEOGS/17 .
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94. The subject of cybernetics deals with the science of
(A) - Genetics Control énd .communications
©) Molecular biology - (D) Bio‘cherﬁistfy
§®TGETWGIT6\5]U_IGD erenm L 1d SiMefwelier Spaseir cranss GMaHng?
A  oplwue - ' . B) si@uur® wHmb g,eseueo@g;m_rrq
C) mawayu@Nuo ' D 2WiCauduued

95.  Which of the following units represents larger amount of data

(A) - Kilobyte E : d Terabyte
(C)  Gigabyte (D) Megabyte

EpsanL se@sale ag s sifs srey Cadlieu @@gé}g)g? .
(A) FHCamenul (KilobYte) B) Qugreul. (Terabyte)
(C) gsmeul (Gigabyte) (D) Quasreul (Megabyte)

96. A server has

M a p.ermanent’I/P addre;ss : (B) atemporary I/P address
(C) adynamic I/P address (D) same I/P address

_ é.lgréusa’rr epevtbletr
(A) P @paaufl ﬁlmwurrmg ) (B) I’'P ysafl gpandaioreang

(C)  UP ysaf Quivg fevalgidreryy (D)  I/P paauf @Gy sfigwneng

97. National Telecom policy was approved by the Government of Indla on

m01052012 | (B)  01.05.2011
(©) 01.05.2013 (D) 01.05.2014

- Gzflu Agreneg Qgrru'rq Qamerens QB iraTed a@@ﬁésasuui_l_gj
(A)  01.05.2012 | © (B) 01.05.2011
(€) 01.05.2013 : . (D) 01.05.2014
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98.

-

99.

100.

The dlfference between the simple interest and the compound interest at the rate of 12% per
annum on Rs. 5,000 for 2 year will be

(A) Rs.17.50

" ®B) Rs.36
(©) Rs. 45
Rs. 72

em. 5,0006@ 2 cgg,aﬂsr‘(’rpasesrfle;b 12% auliq. 5586 saflot g oPmih sl ut g baren efsHumsid
@A) e 17.50

®) m. 36
© @ 45

D) m72

The product of L C.M and H.C.F of two numbers is 24. The d1fference of two numbers is 2,
then the numbers are :

(A) 2and4
W  6and4
(C) 8and6
(@) 8and 10 '

Q@ eramaatian 15.8.10. wHpb 5. G]u QU e @u@ass;;pua)an 24, Sihs Qs aamseten a’ilg,é]um&m 2
areafled Sipgeranaar apenpG

A Zovpgo4d
®)  Cuoppi4
© 8uppb6

(D). 8uwpmd 10

The greafest number that exactly divides 105, 100; and 2436 is

Q) 6 , 7
© 3 o 21 .
105, 1001, 2436 < & GreioTa;aiGﬁ sflurs SHudandl eugs@ WeslEufiv ere
@A 6 | | ® T |
© 3 ‘ : D) 21
37 - o GEOGS/17
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Read the following instructions carefully before you begin to answer the questions.

o G2

IMPORTANT INSTRUCTIONS

The apph'cant will be supplied with Question Booklet 10 minutes before commencement of the
examination. ‘ ’

This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right snde of thls page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Inwgﬂator to mark the answers.

You will also encode your Register Number, Subject Code, Question Booklet Sl. Ne. etc. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode -
properly or fail to encode the above information, action will be taken as per commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you ‘in the
Answer Sheet.

In the Answer Sheet there are four circles @), ®, © and (@ against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong e.g. If for any item, ® is
the oorrect answer, you have to mark as follows : '
O EOND)
You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Exammatlon Hall during the examination.
r the ex mination i con lu ou must _ha ver wer | h t to the Inv1 ator. You are
llowed ce the Qu Booklet with you onl r th Ex ver.

- The sheet before the last pagé of the Question Booklet can be used for Rough Work.

In all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers in the Question Booklet.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.

o



